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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & Bg àíZ-nÌ _| Hw$b 27 àíZ h¢ & àíZ-nÌ nm±M IÊS>m| _| 
{d^m{OV h¡ &  

(ii) IÊS> A _| àíZ g§»`m 1 – 5 VH$ àË`oH$ àíZ EH$ A§H$ H$m$ h¡ & àË`oH$ àíZ H$m CÎma 
20 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(iii) IÊS> ~ _| àíZ g§»`m 6 – 10 VH$ àË`oH$ àíZ Xmo A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma  
40 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(iv) IÊS> g _| àíZ g§»`m 11 – 16 VH$ àË`oH$ àíZ Mma A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 
100 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(v) IÊS> X _| àíZ g§»`m 17 – 21 VH$ àË`oH$ àíZ nm±M A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 
150 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vi) IÊS> X _| àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr  
CÎma-nwpñVH$m _| {b{IE & 

(vii) IÊS> ` _| àíZ g§»`m 22 – 27 VH$ àË`oH$ àíZ N>… A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 
150 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

General Instructions : 

(i) All questions are compulsory. This question paper has 27 questions in all. 

There are five sections in this question paper.   

(ii) Section A contains Questions number 1 – 5 of one mark each. The 

answers to these questions should not exceed 20 words each. 

(iii) Section B contains Questions number 6 – 10 of two marks each. The 

answers to these questions should not exceed 40 words each. 

(iv) Section C contains Questions number 11 – 16 of four marks each. The 

answers to these questions should not exceed 100 words each. 

(v) Section D contains Questions number 17 – 21 of five marks each. The 

answers to these questions should not exceed 150 words each. 

(vi) In Section D, Question number 21 is a map-based question. Write its 

answer in your answer-book. 

(vii) Section E contains Questions number 22 – 27 of six marks each. The 

answers to these questions should not exceed 150 words each. 
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                            IÊS> A 
SECTION A 

1. {ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ d¡ídrH$aU Ho$ gå~ÝY ‘| µJbV  h¡ ? 1 

(i) d¡ídrH$aU ~hþAm¶m‘r h¡ & 

(ii) d¡ídrH$aU H$m à^md AË¶{YH$ Ag‘mZ h¡ & 

(iii) Bggo ‘yë¶m| Ho$ ~rM g§Kf© CËnÞ Zht hmoVm & 

(iv) àm¡Úmo{JH$s Ho$ H$maU d¡ídrH$aU hþAm h¡ & 

 Which of the following statements about globalisation is incorrect ? 

(i) Globalisation is multidimensional. 

(ii) The impact of globalisation is highly uneven.  

(iii) It does not lead to conflict of values. 

(iv) Technology has led to globalisation.  

2. ‘Am{g¶mZ e¡br’ Ho$ {H$gr EH$ JwU H$m ‘yë¶m§H$Z H$s{OE & 1 

        AWdm 

 ‘~¢S>d¡JZ aUZr{V’ Ho$ {H$gr EH$ bm^ H$m ‘yë¶m§H$Z H$s{OE & 1 

Evaluate any one merit of ‘ASEAN Way’. 

           OR 

 Evaluate any one merit of ‘Bandwagon Strategy’. 

3. ^maV Ho$ {H$gr ^r amÁ¶ ‘| nhbr µJ¡a-H$m±J«ogr gaH$ma H$m¡Z-gr amOZr{VH$ nmQ>u Zo ~ZmB© ? 1 

   AWdm 

 g_H$mbrZ ^maV H$s {H$Ýht Xmo amOZr{VH$ nm{Q>©¶m| Ho$ Zm‘ {b{IE {OZH$m OÝ‘ gmoe{bñQ> 
nmQ>u go hþAm h¡ & 1  

Which political party formed the first non-Congress government in any 

State of India ? 

   OR 

 Name any two political parties in contemporary India which trace their 

origins to the Socialist Party.  
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4. ‘‘ybdmgr bmoJ’ H$m AW© ñnîQ> H$s{OE & 1 

 Explain the meaning of ‘Indigneous people’. 

5. gmo{d¶V g§K Ho$ {H$g ZoVm H$mo gmo{d¶V g§K Ho$ {dKQ>Z Ho$ {bE Xmofr ‘mZm Om gH$Vm h¡ ? 

H$moB© EH$ H$maU {b{IE & 1 
 Which leader of Soviet Union can be blamed for the disintegration of 

USSR (Soviet Union) ? Write any one reason. 

   IÊS> ~  

SECTION B 

6. {ZåZ{b{IV H$m ghr {_bmZ H$s{OE : 
2

1
4=2 

    ñV§^  ‘A’            ñV§^  ‘B’ 

(a) µJar~r hQ>mAmo (i) O¶ àH$me Zmam¶U 

(b) O¶ OdmZ – O¶ {H$gmZ (ii) am‘ ‘Zmoha bmo{h¶m 
(c) gånyU© H«$mpÝV (iii) BpÝXam Jm±Yr 
(d) µJ¡a-H$m±J«ogdmX (iv) bmb ~hmXþa emñÌr 

 Match the following : 

 Column ‘A’             Column ‘B’ 

(a) Garibi Hatao (i) Jai Prakash Narayan 

(b) Jai Jawan – Jai Kisan (ii) Ram Manohar Lohia 

(c) Total Revolution (iii) Indira Gandhi 

(d) Non-Congressism (iv) Lal Bahadur Shastri 

7. ‘mZdVm H$s gwajm H$mo gr‘mAm| H$s gwajm go A{YH$ ‘hÎdnyU© ‘mZZo Ho$ {H$gr EH$ H$maU 
H$m {díbofU H$s{OE & 2 

                                              AWdm 

 na‘mUw Aàgma gpÝY 1968 H$mo AñÌ {Z¶ÝÌU gpÝY g‘PZo Ho$ {H$gr EH$ H$maU H$m 
{díbofU H$s{OE & 2   
Analyse any one reason for considering human security more important 

than territorial security. 

   OR 

 Analyse any one reason for considering NPT of 1968 as an arms control 

treaty. 
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8. 1960 Ho$ XeH$ _| ^maV H$s {H$Ýht Xmo X{jUn§Wr amOZr{VH$ nm{Q>©¶m| VWm dm‘n§W H$s Amoa 

PwH$md aIZo dmbr {H$Ýht Xmo AÝ¶ nm{Q>©¶m| Ho$ Zm‘ COmJa H$s{OE & 2 

                                              AWdm 

 1953 ‘| ^maV _| amÁ¶ nwZJ©R>Z Am¶moJ {Z¶wº$ H$aZo Ho$ {H$Ýht Xmo H$maUm| H$mo COmJa H$s{OE & 2   

Highlight any two political parties of 1960s in India that were Rightist 

and any two other parties as Left leaning parties.  

 

   OR 

 Highlight any two reasons for the appointment of States Reorganisation 

Commission in 1953 in India. 

9. ^maV _| àW‘ Am_ MwZmd go boH$a AmO VH$ hþE ‘VXmZ Ho$ {H$Ýht Xmo VarH$m| H$m dU©Z 

H$s{OE & 2 

                                         AWdm 

 {H$Ýht Mma Xogr [a`mgVm| (aOdm‹S>m|) Ho$ Zm‘ {b{IE {OÝhm|Zo ñdV§ÌVm Ho$ ~mX ^maV ‘| {db¶ 

H$m {damoY {H$¶m & 2  

Describe any two methods of voting since the first general election in 

India. 

                                              OR 

 Name any four princely states whose merger with India was resisted  

after independence.   

10. Eogo {H$Ýht Xmo H$maUm| H$mo COmJa H$s{OE {OÝhm|Zo n¶m©daU Ho$ ‘wÔm| H$mo d¡pídH$ amOZr{V H$s 

{MÝVm ~Zm {X¶m & 2 

 Highlight any two reasons that made environmental issues the concern of 

Global Politics.  
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   IÊS> g  

SECTION C 

11. erV ¶wÕ Ho$ Xm¡amZ ‘hme{º$¶m| Ûmam N>moQ>o Xoem| H$mo AnZo JwQ> ‘| ~ZmE aIZo Ho$ {H$Ýht Xmo 

H$maUm| H$s ì¶m»¶m H$s{OE & 2+2=4 

   AWdm 

 ^maV H$s JwQ>-{ZanojVm H$s Zr{V H$s AmbmoMZm Ho$ {H$Ýht Xmo H$maUm| H$s ì¶m»¶m H$s{OE & 2+2=4  

Explain any two reasons for the superpowers to have smaller countries as 

their allies during the Cold War.  

   OR 

 Explain any two reasons for the criticism of India’s policy of  

non-alignment.  

12. ^maVr¶ OZg§K H$s {dMmaYmam H$s {H$Ýht Mma {deofVmAm| H$m dU©Z H$s{OE & 4 

 Describe any four features of Bharatiya Jana Sangh’s ideology.  

13. erV ¶wÕ Ho$ ~mX ^maV Am¡a MrZ Ho$ gå~ÝYm| ‘| AmE ~Xbmdm| H$m {díbofU H$s{OE & 4 

 Analyse the changes in the relationship between India and China since 

the end of the Cold War.  

14. gwajm n[afX² Ho$ ZE ñWm¶r gXñ¶m| Ho$ {bE àñVm{dV {H$E JE ‘mZXÊS>m| H$m ‘yë¶m§H$Z 

H$s{OE & 4 

                                 AWdm 

 Xoem| H$s gwajm H$mo ˜Vam| Ho$ ZE òmoVm| H$m AmH$bZ H$s{OE & 4  

Evaluate the proposed criteria for new permanent members of Security 

Council.  

                                       OR 

 Assess the new sources of threat to the security of countries.  
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15. ‘gmo{d`V àUmbr’ H$s {H$Ýht Mma {deofVmAm| H$m dU©Z H$s{OE & 4 

 Describe any four features of ‘Soviet System’.  

16. CXmhaUm| H$s ghm¶Vm go AmH$bZ H$s{OE {H$ E{e¶m Am¡a A’«$sH$m Ho$ Zd ñdV§Ì Xoem| Ho$ 
g‘j gwajm H$s MwZm¡{V¶m± ¶yamon ‘| gm‘Zm H$s OmZo dmbr MwZm¡{V¶m| go AbJ Wt & 4 

   AWdm 

 {dídmg ~hmbr H$s à{H«$¶m H$m CXmhaUm| H$s ghm¶Vm go AmH$bZ H$s{OE & {H$g àH$ma ¶h 

à{H«$`m qhgm Am¡a ¶wÕ go ~MZo Ho$ gmYZ Ho$ ê$n ‘| H$m¶© H$aVr h¡ ? 4  

Assess with the help of examples that the security challenges faced by 

the newly independent countries of Asia and Africa were different from 

the challenges faced in Europe.  

   OR 

 Assess the process of confidence building with the help of examples. How 

does it function as a means of avoiding violence and war ? 

   IÊS> X  

SECTION D 

17. ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 
{b{IE :  

  gmå¶dmX Ho$ nVZ Ho$ ~mX nyd© gmo{d¶V g§K Ho$ JUamÁ¶ EH$ gÎmmdmXr, 
g‘mOdmXr ì¶dñWm go bmoH$Vm§{ÌH$ ny±OrdmXr ì¶dñWm VH$ Ho$ H$îQ>àX g§H«$‘U go 

hmoH$a JwµOao & ê$g, ‘Ü¶ E{e¶m Ho$ JUamÁ¶ Am¡a nydu ¶yamon Ho$ Xoem| ‘| ny±OrdmX H$s 
Amoa g§H«$‘U H$m EH$ Img ‘m°S>b AnZm¶m J¶m & {díd ~¢H$ Am¡a A§Vam©îQ´>r¶ ‘wÐm 

H$mof Ûmam {ZX}{eV Bg ‘m°S>b H$mo ‘em°H$ Woaonr’ (AmKmV nhþ±MmH$a CnMma H$aZm) 

H$hm J¶m & ^yVnyd© ‘Xÿgar Xþ{Z¶m’ Ho$ Xoem| ‘| em°H$ Woaonr H$s J{V Am¡a JhZVm 
AbJ-AbJ ahr bo{H$Z BgH$s {Xem Am¡a M[aÌ ~‹S>r gr‘m VH$ EH$ O¡go Wo &  

(i) H$m¡Z-gr Xmo AÝVam©îQ´>r¶ g§ñWmAm| Zo ^yVnyd© Xÿgar Xþ{Z¶m Ho$ Xoem| Ho$ {bE em°H$ Woaonr 
H$mo bmJy {H$¶m ? 

(ii) em°H$ Woaonr H$s {H$Ýht Xmo {deofVmAm| H$s ì¶m»¶m H$s{OE & 

(iii) em°H$ Woaonr Ho$ H$moB© Xmo n[aUm‘ ñnîQ> H$s{OE & 1+2+2=5 

   AWdm 
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 ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 
{b{IE :   

  na‘mUw ¶wÕ H$s gyaV ‘| XmoZm| njm| H$mo BVZm ZwH$gmZ CR>mZm n‹S>oJm {H$ CZ‘| go 

{dOoVm H$m¡Z h¡ – ¶h V¶ H$aZm ^r Ag§^d hmoJm & AJa H$moB© AnZo eÌw na 

AmH«$‘U H$aHo$ CgHo$ na‘mUw h{W¶mam| H$mo ZmH$m‘ H$aZo H$s H$mo{ee H$aVm h¡ V~ ^r 

Xÿgao Ho$ nmg Cgo ~~m©X H$aZo bm¶H$ h{W¶ma ~M OmE±Jo & Bgo ‘AnamoY’ (amoH$ Am¡a 

g§VwbZ) H$m VH©$ H$hm J¶m & XmoZm| hr njm| Ho$ nmg EH$-Xÿgao Ho$ ‘wH$m~bo Am¡a 

nañna ZwH$gmZ nhþ±MmZo H$s BVZr j‘Vm hmoVr h¡ {H$ H$moB© ^r nj ¶wÕ H$m IVam Zht 

CR>mZm MmhVm & 

(i) na‘mUw ¶wÕ {ZUm©¶H$ ³¶m| Zht hmoVm ? 

(ii) erV ¶wÕ {H$g H$maU go XmoZm| ‘hme{º$¶m| Ho$ ~rM nyU© ¶wÕ ‘| n[ad{V©V Zht hþAm ?  

(iii) ‘AnamoY’ H$m AW© ñnîQ> H$s{OE & 1+2+2=5  

Read the passage given below carefully and answer the following 

questions :   

  The collapse of communism was followed in most of 

these countries by a painful process of transition from an 

authoritarian socialist system to a democratic capitalist system. 

This model of transition in Russia, Central Asia and East 

Europe came to be known as ‘shock therapy’. It varied in its 

intensity and speed amongst the former second world countries, 

but its direction and features were quite similar.  

(i) Which two international institutions administered shock 

therapy in the former second world countries ?  

(ii) Explain any two features of shock therapy. 

(iii) Explain any two consequences of shock therapy.  

   OR 
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 Read the passage given below carefully and answer the following 

questions :  

  In the event of a nuclear war, both sides will be so 

badly harmed that it will be impossible to declare one side or 

the other as the winner. Even if one of them tries to attack and 

disable the nuclear weapons of it rival, the other would still be 

left with enough nuclear weapons to inflict unacceptable 

destruction. Both sides have the capacity to retaliate against an 

attack and to cause so much destruction that neither can afford 

to initiate a war.  

(i) Why is a nuclear war indecisive ? 

(ii) Why did the Cold War not transform into a full scale war 

involving the superpowers ? 

(iii) Explain the logic of ‘deterrence’. 

18. ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 

{b{IE : 

  AmµOmXr Ho$ g‘¶ ^maV Ho$ gm‘Zo {dH$mg Ho$ Xmo ‘m°S>b Wo :  

CXmadmXr-ny±OrdmXr ‘m°S>b VWm g‘mOdmXr ‘m°S>b & ^maV ‘| H$B© bmoJ {dH$mg 
Ho$ ê$g Ho$ g‘mOdmXr ‘m°S>b go ~hþV à^m{dV Wo naÝVw A‘arH$m Ho$ ny±OrdmXr 
‘m°S>b Ho$ g‘W©H$ ~hþV H$‘ Wo & ^maV Zo {dH$mg Ho$ BZ Xmo ‘m°S>bm| ‘| go {H$gr 
H$mo ^r Zht AnZm¶m & ^maV ‘| XmoZm| ‘m°S>bm| Ho$ VÎdm| H$mo {‘bm H$a AnZm¶m 

J¶m & Bg H$maU go BgH$mo ‘{‘{lV AW©ì¶dñWm’ H$hm J¶m &  

(i) ^maV ‘| {dH$mg Ho$ {H$g ‘m°S>b H$mo AnZm¶m J¶m ? 

(ii) {dH$mg Ho$ Bg ‘m°S>b H$s AmbmoMZm Ho$ {H$Ýht Xmo {~ÝXþAm| H$m {díbofU 
H$s{OE & 

(iii) ~‹S>o CÚmoJn{V¶m| Ûmam àñVm{dV ‘~m°å~o ßbmZ’ H$m {díbofU H$s{OE & 1+2+2=5 

   AWdm 



     

 59/1/1 10 

 ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 
{b{IE : 

  1960 Ho$ XeH$ ‘| H¥${f H$s Xem ~X go ~XVa hmoVr JB© & 1940 Am¡a 

1950 Ho$ XeH$ ‘| hr ImÚmÞ Ho$ CËnmXZ H$s d¥{Õ Xa, OZg§»¶m H$s d¥{Õ Xa 

go O¡go-V¡go AnZo H$mo D$na aI nmB© Wr & 1965 go 1967 Ho$ ~rM Xoe Ho$ AZoH$ 

{hñgm| ‘| gyIm n‹S>m & Bgr Ad{Y ‘| ^maV Zo Xmo ¶wÕm| H$m gm‘Zm {H$¶m Am¡a Cgo 

{dXoer ‘wÐm Ho$ g§H$Q> H$mo ^r PobZm n‹S>m & BZ gmar ~mVm| Ho$ H$maU ImÚmÞ H$s 

^mar H$‘r hmo JB© Am¡a Xoe Ho$ AZoH$ ^mJm| ‘| AH$mb O¡gr pñW{V AmZ n‹S>r & 

(i) ^maV Ho$ {H$g amÁ¶ na ImÚmÞ Ho$ g§H$Q> H$m g~go A{YH$ à^md hþAm ? 

(ii) 1960 Ho$ XeH$ ‘| ^maV ‘| ImÚmÞ g§H$Q> (Vrd« H$_r) Ho$ {H$Ýht Xmo H$maUm| 

H$m {díbofU H$s{OE & 

(iii) 1960 Ho$ XeH$ ‘| CËnÞ hþE ImÚmÞ g§H$Q> Ho$ {H$Ýht Xmo n[aUm‘m| H$m 

{díbofU H$s{OE & 1+2+2=5  

Read the passage given below carefully and answer the following 

questions :      

  On the eve of Independence, India had before it, two 

models of development : the liberal-capitalist model and the 

socialist model. There were many in India then who were 

deeply impressed by the Soviet model of development. There 

were very few supporters of the American style of capitalist 

development. India did not follow any of the two known paths 

to development. Elements from both these models were taken 

and mixed together in India. That is why it was described as 

mixed economy.  

(i) What model of development was adopted in India ? 

(ii) Analyse any two points of criticism against this model of 

development.  

(iii) Analyse the ‘Bombay Plan’ as proposed by big industrialists.  

 

   OR 
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 Read the passage given below carefully and answer the following 

questions :  

  The agricultural situation went from bad to worse in the 

1960s. Already, the rate of growth of food grain production in 

the 1940s and 1950s was barely staying above the rate of 

population growth. Between 1965 – 1967 severe droughts 

occurred in many parts of the country. This was also a period 

when the country faced two wars and foreign exchange crisis. 

All this resulted in severe food shortage and famine-like 

conditions in many parts of the country.  

(i) Which State of India was worst affected by the food crisis ? 

(ii) Analyse any two reasons for the acute shortage of food in 

India in 1960s.  

(iii) Highlight any two consequences of the food crisis in 1960s.  

 

19. ZrMo {XE JE AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma 

{b{IE :  

  AmµOmXr Ho$ Vwa§V ~mX h‘mao Xoe H$mo {d^mOZ, {dñWmnZ, Xogr [a¶mgVm| 

Ho$ {db¶ Am¡a amÁ¶m| Ho$ nwZJ©R>Z O¡go H${R>Z ‘gbm| go OyPZm n‹S>m & Xoe Am¡a 

{dXoe Ho$ AZoH$ n¶©dojH$m| H$m AZw‘mZ Wm {H$ ^maV EH$sH¥$V amîQ´> Ho$ ê$n ‘| 

µÁ¶mXm {XZm| VH$ {Q>H$ Zht nmEJm & AmµOmXr Ho$ Vwa§V ~mX Oå‘y-H$í‘ra H$m 

‘gbm gm‘Zo Am¶m & ¶h {gµ’©$ ^maV Am¡a nm{H$ñVmZ Ho$ ~rM g§Kf© H$m ‘m‘bm 

Zht Wm & H$í‘ra KmQ>r Ho$ bmoJm| H$s amOZr{VH$ AmH$m§jmAm| H$m gdmb ^r Bggo 

Ow‹S>m hþAm Wm & R>rH$ Bgr Vah nydm}Îma Ho$ Hw$N> ^mJm| ‘| ^maV H$m A§J hmoZo Ho$ 

‘gbo na gh‘{V Zht Wr & X{jU ^maV ‘| ^r Ð{d‹S> Am§XmobZ go Ow‹S>o Hw$N> 

g‘yhm| Zo EH$ g_` AbJ amîQ´> H$s ~mV CR>m¶r Wr & 
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(i) nydm}Îma ^maV Ho$ Eogo {H$Ýht Xmo joÌm| Ho$ Zm‘ {b{IE Ohm± AmµOmXr Ho$ ~mX 

AbJmddmXr AmÝXmobZ H$m CX¶ hþAm & 

(ii) Oå‘y-H$í‘ra ‘| AempÝV Ho$ H$moB© Xmo H$maU kmV H$s{OE & 

(iii) ^maV ‘| amï´>r` EH$Vm H$mo ‘O~yV H$aZo Ho$ H$moB© Xmo Cnm¶ gwPmBE & 1+2+2=5  

  

 Read the passage given below carefully and answer the following 

questions : 

  After Independence our nation had to cope with many 

difficult issues like partition, displacement, integration of 

Princely States and so on. Many observers both within the 

country and from outside had predicted that India as one 

unified country cannot last long. Soon after independence, the 

issue of Jammu and Kashmir came up. It was not only a conflict 

between India and Pakistan. It was a question of political 

aspirations of the people of Kashmir valley. In some parts of the 

north-east, there was no consensus about being a part of India. 

In the south some groups from the Dravid movement toyed with 

the idea of a separate country.  

 

(i) Identify any two regions of north-east India where the 

secessionist movements emerged after Independence.  

 

(ii) Find out any two reasons for the unrest in Jammu and Kashmir.  

 

(iii) Suggest any two methods to strengthen the national unity in 

India.  
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20. ZrMo {XE JE H$mQ>©yZ H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm {ZåZ{b{IV àíZm| Ho$ CÎma  
{b{IE :  

 
(i) Bg H$mQy>©Z ‘| Xem©E JE àYmZ ‘ÝÌr H$m Zm‘ {b{IE & 

(ii) {H$gr {‘brOwbr (JR>~ÝYZ) gaH$ma Ho$ {H$Ýht Xmo Xmofm| H$mo ñnï> H$s{OE & 

(iii) Bg H$mQy>©Z go {‘b aho gÝXoe H$mo COmJa H$s{OE & 1+2+2=5 

Study the cartoon given below carefully and answer the following 

questions : 

 
(i) Name the Prime Minister shown in this cartoon.  

(ii) Explain any two demerits of any coalition government.  

(iii) Highlight the message conveyed by this cartoon.  

ये दोनों कह रह ेहैं कक  
हम सरकार को बाहर से  
समर्थन देंगे ! 

THEY SAID  

THEY’LL SUPORT  

THE GOVERNMENT  

FROM OUTSIDE ! 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 20 Ho$ ñWmZ na h¢ :   
Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 20 :  

(20.1) ^maV ‘| nhbr JR>~ÝYZ H$s gaH$ma Ho$ àYmZ ‘§Ìr H$m Zm‘ {b{IE & 

(20.2) JR>~ÝYZ AWdm {‘brOwbr gaH$ma H$m AW© ñnîQ> H$s{OE & 

(20.3) JR>~ÝYZ gaH$ma Ho$ H$moB© Xmo Xmof COmJa H$s{OE & 1+2+2=5 

(20.1) Name the Prime Minister of the first coalition government in 

India. 

(20.2) Explain the meaning of coalition government.  

(20.3) Highlight any two demerits of coalition government.  

21. E{e¶m Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥îR> 16 na), _| nm±M Xoem| H$mo  

                  VWm    Ûmam Xem©`m J`m h¡ & ZrMo Xr JB© OmZH$mar Ho$ AmYma na BZ 

Xoem| H$s nhMmZ H$s{OE Am¡a AnZr CÎma-nwpñVH$m _| BZHo$ ghr Zm_, à`moJ H$s JB© 

OmZH$mar H$s H«$_ g§»`m VWm gå~pÝYV Aja, ZrMo Xr JB© Vm{bH$m Ho$ ê$n _| {b{IE :  

à`moJ H$s JB© OmZH$mar 
H$s H«$_ g§»`m 

gå~pÝYV Aja  Xoe H$m Zm_ 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) Bg joÌ H$m EH$ Xoe Omo nm{H$ñVmZ H$m ^mJ Wm & 

(ii) AnZr AW©ì¶dñWm H$mo CXma ~ZmZo dmbm Bg joÌ H$m àW‘ Xoe & 

(iii) EH$ Xoe Omo g§d¡Ym{ZH$ amOV§Ì Wm & 

(iv) EH$ Xoe {Og‘| XmoZm| bmoH$VmpÝÌH$ Am¡a g¡Ý¶ emgZ ahm h¡ & 

(v) EH$ Xoe Omo gmH©$ H$m gXñ¶ Zht h¡ &   15=5 
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In the given political outline map of Asia (on page 16), five 

countries have been marked as                           and     . Identify them on 

the basis of the information given below and write their correct names in 

your answer-book with the respective serial number of the information 

used and the concerned alphabet as per the following format : 

 

Sr.  no.   of   the 

information used 

Concerned 

Alphabet  

Name of the 

Country 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

 

(i) A country of the region which was a part of Pakistan.  

(ii) The first country in the region to liberalise the economy.  

(iii) A country which had been a constitutional monarchy. 

(iv) A country that experienced both civilian and military rule.  

(v) A country which is not a member of SAARC. 
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àíZ g§. 21 Ho$ {bE For question no. 21 

E{e`m - amOZr{VH$ Asia – Political 

 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ na  
h¢ :    

Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 21 : 

(21.1) X{jU E{e¶m Ho$ {H$gr EH$ Xoe H$m Zm‘ {b{IE Ohm± XmoZm|, bmoH$VmpÝÌH$ Am¡a 
g¡Ý¶ emgZ ahm h¡ & 

(21.2) EH$ Eogo E{e¶mB© Xoe H$m Zm‘ {b{IE Omo AVrV ‘| {hÝXÿ amîQ´> Wm & 
(21.3) Cg Xoe H$m Zm‘ {b{IE Omo nm{H$ñVmZ H$m ^mJ Wm & 

(21.4) gmH©$ Ho$ {H$Ýht Mma gXñ` Xoem| Ho$ Zm‘ {b{IE &  1+1+1+2=5 

D 

C 

E 

B 

A 
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(21.1) Name any one country of South Asia, that has experienced both 

civilian and military rule.  

(21.2) Name an Asian country which was a Hindu Kingdom in the 

past. 

(21.3) Name the country which had been a part of Pakistan.  

(21.4) Name any four member countries of SAARC. 

   IÊS> `  

SECTION E 

22. 1969 ‘| H$m±J«og nmQ>u H$mo Am¡nMm[aH$ {d^mOZ H$s Amoa bo OmZo dmbo {H$Ýht VrZ à‘wI ‘wÔm| 

H$mo ñnîQ> H$s{OE &  23=6 

                      AWdm 

 1975 ‘| AmnmVH$mb H$s KmofUm Ho$ {bE CÎmaXm¶r {H$Ýht VrZ H$maUm| H$s ì¶m»¶m  
H$s{OE & 23=6 

Explain any three major issues that led to the formal split of the 

Congress Party in 1969. 

                    OR 

Explain any three reasons that led to the declaration of Emergency in 

1975. 

23. d¡ídrH$aU Ho$ H$maU Amn Ûmam AZw^d {H$E JE {H$Ýht VrZ n[adV©Zm| H$mo COmJa  

H$s{OE & 23=6 

                            AWdm 

 n¶m©daU H$mo àXÿfU go ~MmZo Ho$ H$moB© VrZ VarHo$ gwPmBE & 23=6 

Highlight any three changes experienced by you due to globalisation.  

     OR 

Suggest any three methods to protect the environment from pollution.  
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24. ‘dM©ñd’ go {ZnQ>Zo Ho$ {H$Ýht VrZ VarH$m| H$m {díbofU H$s{OE & 23=6 

                                      AWdm 

 1970 Ho$ ~mX MrZ Ûmam AnZr AW©ì¶dñWm H$mo gwYmaZo Ho$ {bE CR>mE JE {H$Ýht VrZ 

H$X‘m| H$m {díbofU H$s{OE & 23=6 

Analyse any three methods to overcome ‘hegemony’. 

                                              OR 

Analyse any three steps taken by China to reform its economy after 1970.  

25. ‘‘OZ AmÝXmobZm| Zo bmoH$VÝÌ ‘| Aì¶dñWm ’¡$bmZo Ho$ ~Om¶ BgHo$ {dñVma _| `moJXmZ {X`m 

h¡ &’’ VH$m] H$s ghm`Vm go H$WZ H$s nwpîQ> H$s{OE & 6  

AWdm 

 ‘‘^maV Ho$ {d{^Þ joÌm| Ho$ bmoJm| Ûmam A{^ì¶º$ H$s JB© joÌr¶ AmH$m§jmE± {d{^ÞVm ‘| EH$Vm 

H$m CXmhaU h¢ &’’ VH$m] H$s ghm`Vm go H$WZ H$s nwpîQ> H$s{OE & 6 

‘‘The popular movements have contributed to the expansion of democracy 

rather than causing disruption.’’ Support the statement with arguments.  

OR 

‘‘Regional aspirations expressed by people of different parts of India is an 

example of Unity in Diversity.’’ Support the statement with arguments.  

26. ^maV H$s na‘mUw Zr{V H$s {H$Ýht Mma {deofVmAm| H$m dU©Z H$s{OE & 1
2

1
4=6 

                                AWdm 

 1971 ‘| ^maV Am¡a nm{H$ñVmZ Ho$ ~rM hþE ¶wÕ Ho$ {H$Ýht Xmo H$maUm| Am¡a Xmo n[aUm‘m| H$m 
dU©Z H$s{OE & 6 

Describe any four features of India’s Nuclear Policy. 

                                       OR 

Describe any two reasons and two outcomes of war between India and 

Pakistan in 1971. 
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27. 1975 ‘| Kmo{fV AmnmVH$mb go grIo JE {H$Ýht VrZ g~H$m| (nmR>m|) H$m dU©Z H$s{OE & 23=6 

                                   AWdm 

 ^maV ‘| 1971 ‘| hþE MwZmdm| Ho$ {H$Ýht VrZ n[aUm‘m| H$m dU©Z H$s{OE & 23=6 

Describe any three lessons learnt from the Emergency declared in 1975. 

                                           OR 

Describe any three outcomes of the 1971 elections in India.   

 


